
6 ＋ 3.1

4

3.5 × 41.5

計算
エース

　
　
月
　
　
日

名
　
前年

＝ 5 ×

② 3.9 ×

グレード 5 ― 49

① × 4 ＋

点

＝

1問10点
式と計算　②

□にあてはまる数をかいて、答えも求めましょう。

（ ）

＝ 20

1.5

）（

＋ 3.5 × 4

＝ 7 × 6

3.1 × 6× 6 ＝

＝ 42

3.9 ＋

）× 9 ＝ 5.3 －③ 5.3 × 9 － 2.3 （

＝ 27

＝ 3 × 9

2.3 × 9

④ 8.2 × 7 － 4.2 7× 7 ＝ 8.2 － ）（

＝ 28

＝ 4 × 7

4.2 ×

× 3 ＝ 3.9 ＋⑤ 3.9 × 3 ＋ 4.1 （ 4.1 × 3）

（C)TERRAS Co,.Ltd

＝ 24

＝ 8 × 3



）

（ ）

400

×（ ） 498

＝ 392

－ 2

（

＝ － 8

× 4 ＝ 100⑥

× 6× 6 ＝ 100 ＋⑦ 102

＝ 600 ＋ 12

＝ 612

2

125

100

＝ 500

25 × 4× 4 ＝ 100 ＋⑧

＝ 400 ＋

⑨ 32

× 100

＝

× 25

＝ 8

× 25 ＝ 8 × 4

＝ 25 × 4⑩ 25

（C)TERRAS Co,.Ltd

800

× 6

＝ 600

× 6

＝ 100

× 24


